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402 SI2FXHE0| M 1,058,000 1,000, 100
01 QIZEXIE2AIE 2 X 1,058,000 1,000, 100
O U3t HATHENAF XI&
50,000, 000& x4= *x50% 100,000
O WA X, 2 2¢ K&
50,000, 000& *3= x50% 75,000
O oA S3E8=2 g4 I
22,400,000 *10ha*50% 112,000
O QIATHHN 2=AlE K&
6,000,000& *17ha*50% 51,000
O dY9Y El&as tllsd d4sotA A
200,000, 000& *6ha*50% 600,000
O AS8s 4 0/502A N
240,000, 000& *1ha*50% 120,000
HAHZ MAD|IEE XM 33,000 33,000
307 212t0| & 33,000 33,000
02 DIZEBAAIE E X 33,000 33,000
O gdHx MA =X X2 33,000,000 =14l 33,000
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&< 5,400
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= 12,600
Ol AFA AL Al A S [H S} 137,925 137,925
J| 55,170
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== 24,827
= 57,928
01 QIZEXIEAIE 2 X 137,925 137,925
O QlAIMAFAIA S 3t AIE
275,850, 000& * 141 50% 137,925
J| 55,170
= 24,827
= 57,928
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Crel Il P (MBS D) (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 4,032 3,360 672
O sAtgd FR=IZ 4,032,000 4,032
202 oddl 8,880 8,880 0
01 S LHOYI 8,880 8,880 0
O JI& 2l 8,880,000 8,880
Jl2Zdtl(dusagyd) 11,904 11,400 504
201 et 3,024 2,520 504
01 At 22l 3,024 2,520 504
O JHEZ dRFISEHI 3,024,000 3,024
202 o4dl 8,880 8,880 0
01 = LH 4 Hi 8,880 8,880 0
O Jle 2UWdAb 8,880,000& 8,880
HRES (& sat) 248,032 250,000 A 1,968
HEHHK = 248,032 250,000 A 1,968
WEHHX & (& &2 =4kt 248,032 250,000 A1,968
701 JIEtSI HESEES 248,032 250,000 A1,968
01 JIEteI HE &= 248,032 250,000 A 1,968
FOUASKRIIZ HES
248,032,000 » 14! 248,032




